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Answers

1. 800

2. 1,500

3. 1,890

4. 1,000

5. 950

6. 1,640

7. 260

8. 800

9. 1,300

10. 900

Solve each problem.

1) Carl and Amy were collecting cans for recycling. Carl
collected 440 cans and Amy collected 356. To the nearest
ten, what is the total number of cans they collected?

ten
440 + 360

800

hundred
440 + 356
796 = 800

2) Janet was looking through old photo albums. The first had
615 pics and the second had 900. To the nearest hundred,
how many pictures were there total?

ten
600 + 900

1500

hundred
615 + 900

1515 = 1500

3) A farmer was planting seeds in a garden. He planted 968
radish seeds and 921 turnip seeds. To the nearest ten, how
many seeds did he plant total?

ten
970 + 920

1890

hundred
968 + 921

1889 = 1890

4) An apple orchard was split into two sections. The first had
710 trees and the second had 306. To the nearest hundred,
how many trees were there total in the orchard?

ten
700 + 300

1000

hundred
710 + 306

1016 = 1000

5) Frank was playing games at the arcade. He won 391 tickets
from the basketball game and 556 tickets from whack-a-
mole. To the nearest ten, how many tickets did he get total?

ten
390 + 560

950

hundred
391 + 556
947 = 950

6) In one day, a mail truck gave out 830 letters and 807
magazines. To the nearest ten, how many pieces of mail did
was delivered total?

ten
830 + 810

1640

hundred
830 + 807

1637 = 1640

7) An ice cream shop sold 137 chocolate cones and 118 vanilla
cones. To the nearest ten, how many cones did the ice cream
shop sell all together?

ten
140 + 120

260

hundred
137 + 118
255 = 260

8) On Monday a shipping company sent out 557 boxes. On
Tuesday they sent out another 212 boxes. To the nearest
hundred, what is the total number of boxes they sent out?

ten
600 + 200

800

hundred
557 + 212
769 = 800

9) A candy company sells 478 boxes of sugar candy and 817
boxes of chocolate candy every day. To the nearest hundred,
what is the sum of the boxes of candy they sell?

ten
500 + 800

1300

hundred
478 + 817

1295 = 1300

10) Over the summer Adam earned 636 dollars mowing lawns
and another 284 dollars trimming weeds. To the nearest
hundred, how much money did Adam make total?

ten
600 + 300

900

hundred
636 + 284
920 = 900
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Solve each problem.

260 800 950 1,500

1,890 1,640 1,000 800

1) Carl and Amy were collecting cans for recycling. Carl
collected 440 cans and Amy collected 356. To the nearest
ten, what is the total number of cans they collected?

ten
440 + 360

800

hundred
440 + 356
796 = 800

2) Janet was looking through old photo albums. The first had
615 pics and the second had 900. To the nearest hundred,
how many pictures were there total?

ten
600 + 900

1500

hundred
615 + 900

1515 = 1500

3) A farmer was planting seeds in a garden. He planted 968
radish seeds and 921 turnip seeds. To the nearest ten, how
many seeds did he plant total?

ten
970 + 920

1890

hundred
968 + 921

1889 = 1890

4) An apple orchard was split into two sections. The first had
710 trees and the second had 306. To the nearest hundred,
how many trees were there total in the orchard?

ten
700 + 300

1000

hundred
710 + 306

1016 = 1000

5) Frank was playing games at the arcade. He won 391 tickets
from the basketball game and 556 tickets from whack-a-
mole. To the nearest ten, how many tickets did he get total?

ten
390 + 560

950

hundred
391 + 556
947 = 950

6) In one day, a mail truck gave out 830 letters and 807
magazines. To the nearest ten, how many pieces of mail did
was delivered total?

ten
830 + 810

1640

hundred
830 + 807

1637 = 1640

7) An ice cream shop sold 137 chocolate cones and 118 vanilla
cones. To the nearest ten, how many cones did the ice cream
shop sell all together?

ten
140 + 120

260

hundred
137 + 118
255 = 260

8) On Monday a shipping company sent out 557 boxes. On
Tuesday they sent out another 212 boxes. To the nearest
hundred, what is the total number of boxes they sent out?

ten
600 + 200

800

hundred
557 + 212
769 = 800

Answers

1. 800

2. 1,500

3. 1,890

4. 1,000

5. 950

6. 1,640

7. 260

8. 800

1-8 88 75 63 50 38 25 13 0
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